Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-III « EXAMINATION — SUMMER - 2014

Subject Code: 330601 Date: 13-06-2014
Subject Name: Surveying - |
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (@  What do you understand by “Survey”? What is the object of 07
Surveying? Explain the principles of surveying in detail.
(b)  Explain representative fraction. Construct “Diagonal scale” of R.F. 07
1/200. Show on it 28.9 m.
Q.2
(@)  List the instruments necessary for “Chain & tape survey”. Explain 07
with neat sketch “Reciprocal Ranging”.
(b)  Find out area of a field using “Simpson rule” using following data. 07
Ch. In 0 5 10 15 20 25 30
Meters
Offsets 3.29 |4.05|6.23 |575 |476 |[526 |291
in meters
OR
(b)  Length of a chain was 20 m. before beginning of a chain survey. At 07
the end of survey the length was found to be 20.10 m. Area of a
figure, drawn to 1CM=20 M was 160sq.mt. Find out correct area of
the figure.
Q.3
() Draw a neat sketch of a prismatic compass. Label the parts. 07
(b)  What is temporary adjustment? Explain temporary adjustment of 07

a prismatic compass.
OR
Q.3 (@)  The following bearings were observed in running a closed traverse. 07
Correct the following bearings for local attraction. Also find
included angle of the traverse.

Line | F.B. B.B.
AB 108° 45' 289° 30'
BC 1° 181°
CD 303° 15' 124° 30"
DA 226° 30' 44 °30'
(b) i Differentiate between prismatic compass and surveyor’s compass. 07

(ii) The magnetic bearing of a survey line was 14°when declination
was 5°W. What is magnetic bearing now? If declination is 2°W.

Q.4
(d  What is temporary adjustment of a dumpy level? Explain step by 07
step procedure of temporary adjustment of a dumpy level.
(b)  Following are the observations recorded during leveling work of a 07
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continuously sloping ground with 4m. Leveling staff at

10m.distance in a straight line. Draw a page of level book. Enter

the readings, and find R.L. of each point and also find slop between

first and last point of the survey. B.M.is first point of survey R.L.

=50m.

1.265, 2.875, 3.980, 0.655,1.995, 3.00, 3.845, 0.695, 2.360, 3.550
OR

Differentiate between H.I. & rise and fall method of calculating

R.L. of points.

(ii) Define contour line, contour interval, contour horizon.

Draw contour map of the following(i)pond(ii)hill(iii)ridge

List the instruments used in plane table survey. Also state
advantages and disadvantages of plane table survey
Explain with sketch Orientation methods(i)by magnetic needle (ii)
By back sighting for plane table survey

OR
Explain technical terms with reference to Theodolite
(i)centering (ii)leveling(iii)focusing(iv)transiting(v)swinging
(vi)face left (vii) face right
Explain Step by step procedure of measuring horizontal angle with
transit
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